Oct 31, 2022

applications of Inclusion - Exclusion 1. <u>Sujerture maps</u>: Let us find the number of surjective maps $f: \operatorname{Cm} \longrightarrow \operatorname{Cn}$ Let X = { f | f is a map from Em] to En]}. For i=1,..., let A: = {f \in X | f(k) = i for any b \in [m] f. Nona A.U. .. UAn consiste of maps of embetthat there is an i E {1,...,n} not in the image of f. In other words A.U... UAn is the set of maps that one not surjecture, whene the set of snorjentime mays from Em] to En] is $X \sim (A, \cup \dots \cup A_n).$ By the I-E formula $|X - (A_1 \cup \dots \cup A_n)| = \sum_{i=1}^{n} (-i)^{1S_i} | \bigcap_{i \in S} A_i| = \sum_{k=0}^{n} (-i)^k \sum_{i \in S} (\prod_{i \in S} A_i)^k \sum_{k=0}^{n} (\prod_{i \in S} A_i)^k \sum_{i \in S} (\prod_{i \in S} A_i$ Now fe ies Ai if and only if f(k) & for any k E [m]. This means fe nies Ai if and only if f: [m] -> [n]. S. This gwess: defence $|X - (A_i \cup \dots \cup A_n)| = \sum_{k=0}^{n} (-i)^k \sum_{\substack{i \in S \\ S \subset inj}} |(A_i)|$ $= \sum_{k=0}^{n} (-1)^{k} \sum_{\substack{k=k \\ s \in m_{j}}}^{n} (n-k)^{m}$ $= \sum_{i=1}^{n} (-i)^{k} (n-k)^{m} \sum_{|s|=k} 1$ $= \sum_{k=0}^{n} (-1)^{k} (n-k)^{m} \binom{n}{k}$ Thus the number of surjective maps from CmJ to CnJ is $\Sigma_{k=0}^{n}$ C-1) & ("h) (n-k)^m. In porticular this number is zero if m<n. (!!)

of sweightine maps from [m] to [n] = $\sum_{k=0}^{n} (-D^{k} \binom{n}{k} (n-k)^{m}$.

2. Derangements: A permitation of a set X is the set of bijertre maps f: X >> X. Suppre IXI=n. Then a permitation of X is what was called a permitation of length n. A denangement of X is a permitation f: X -> X ember that f (n) = x for any x G X. Lot X = In]. Let na calculate the number of derangemente of X. To that end, let P be the ist of permitations J X. For i=1,...,n, set $A_i = \{ f \in P \mid f(x_i) = x_i \}$ It is clear that the est of drangements of X is $P \sim (A_1 \cup \ldots \cup A_n).$ None for SG CO), the set (Ai is essentially ies the same as the set of bijerture mays En]~S -> En]~S ie. the set of permitations on Gro-S. Thus $\left| \left(\begin{array}{c} A_{i} \\ i \in S \end{array} \right| = \left(n - |S| \right) \right|$ Nov $|P_{(A_1\cup...\cup A_n)}| = \sum_{i=1}^{1} (-i)^{1S_i} |(A_i)|$ $= \sum_{k=0}^{\infty} (-1)^{k} \sum_{\substack{S \subset \{n\} \\ ISI = k}} \left| \bigcap_{i \in S} A_{i} \right|$ $= \sum_{k=0}^{n} (-i)^{k} \sum_{\substack{s \in m \\ s \in m}} (n-k)!$

$$= \sum_{k=0}^{N} (-1)^{k} (n-k)! \sum_{\substack{s \in L_{n} \\ i \leq l \neq k}} 1$$

$$= \sum_{k=0}^{n} (-1)^{k} \binom{n}{k} (n-k)! = \sum_{k=0}^{n} \frac{(-1)^{k}}{k!}$$
Thus
Thus
The number of denangements of a set with a deneats
$$= n! \sum_{k=0}^{n} (-1)^{k} \frac{1}{k!}$$
3. Let $d_{1},...,d_{m} \in \mathbb{N}^{3}$. We will show using $I = E$, that
$$(d_{l}-1) (d_{2}-1) \cdots (d_{m}-1) = \sum_{k=0}^{n} (-1)^{k} \frac{1}{k!}$$
Let
$$\frac{1}{k} = \{(z_{1},...,z_{m}) \mid x_{l} \in \mathbb{N}, 1 \leq x_{l} \leq d_{l}, \overline{u} = d_{l} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \mid x_{l} \in \mathbb{N}, 1 \leq x_{l} \leq d_{l}, \overline{u} = d_{l} \}$$
For $S \subseteq Im^{3}$, $(A = \{(z_{1},...,z_{m}) \in X\} \mid x_{l} = d_{l} \}$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} \in \mathbb{N} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} = d_{l} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} = d_{l} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} = d_{l} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} = d_{l} \}$$

$$\frac{1}{k} = \{(z_{1},...,z_{m}) \in X \mid x_{l} = d_{l} \}$$

$$\frac{1}{k} = \frac{1}{k} = \frac{1}{k} = \frac{1}{k} = \frac{1}{k} + \frac{1}{k} = \frac{1}{k} = \frac{1}{k} = \frac{1}{k} + \frac{1}{k} = \frac{1}{k} = \frac{1}{k} = \frac{1}{k} + \frac{1}{k} = \frac{1}{k} = \frac{1}{k} + \frac{1}{k} = \frac{1}{k}$$

$$\begin{cases} \frac{1}{2} \sum_{i=1}^{n} \frac{$$

$$= \sum_{S \in [m]} (-1)^{|S|} \frac{n}{|S|} \frac{1}{|S|} \frac{1}{|S|}$$

Chapter 8. Generating Functions

The generating function of a sequence
(as a, a, a, a, a, ...) = (an)_{n=0}^{m} (= {an: n > 0})
is the power series
$$F(x) = \sum_{n=0}^{\infty} an x^{n}.$$
Note: The power series is not required to converge. It is
a found power series algebra:
Let (an)_{n=0}^{n=0} and $(b_{n})_{n=0}^{\infty}$ be sequences; $F(x) = \sum_{n=0}^{\infty} x^{n}$ and $G(x) = \sum_{n=0}^{\infty} b_{n} x^{n}$.
Then
(b) $F(x) + G_{n}(x) = \sum_{n=0}^{\infty} (a_{n} + b_{n}) x^{n}$
(b) $F(x) \cdot G(x) = \sum_{n=0}^{\infty} (a_{n} + b_{n}) x^{n}$
where $C_{n} = \sum_{k=0}^{\infty} a_{k} b_{n-k} = n = 0, 1, 2, ...$
Note: $y F(x)$ and $G(x)$ are actual functions, (b) is a Reperioding
in Analysis/Calculus. Obtaining:
(Let $(a_{n})_{n=0}^{\infty} = (1, -1, 2), ..., 0)$ and $(b_{n})_{n=0}^{\infty} = (1, 1, 1, ...)$ and check that
 $C_{0} = 1$, but $C_{n} = 0$ for $n > 0$, where $C_{n} = \sum_{n=0}^{\infty} a_{n} b_{n-k-1}$.
 $\left(\text{Use } (a_{n})_{n=0}^{\infty} = (1, -1, 0), \text{ where } c_{n} = \sum_{n=0}^{\infty} a_{n} b_{n-k-1} \right)$

Example: Let
$$(a_{n})_{n=0}^{n=0}$$
 be the eigenenic $a_{n}=1, \forall n \in \mathbb{N}_{0}$
 $(a_{n})_{n=0}^{n=0} = (l_{n=0}^{-1}, x^{n}) = \frac{1}{1-x}$.
 $F(a) = \sum_{n=0}^{\infty} x^{n}$ is called the infinite genetic series.
Example: The generating function of
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le l \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le n$
 $(l_{3})_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le n$
 $(l_{3})_{4}l_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le n$
 $(l_{3})_{4}l_{4}l_{3}l_{3}..._{3}l_{3} = 0$ for $0 \le n$
 $(l_{3})_{4}l_{4}l_{3}l_{3}..._{3}l_{4} = 0$ for $l_{3}l_{3}l_{3}..._{3}l_{3} = 0$ for $l_{3}l_{3}l_{3}..._{3}l_{3} = 0$ for $l_{3}l_{3}l_{3}l_{3} = 0$ for $l_{3}l_{3}l_{3}l_{3}$.
 $(l_{3})_{4}l_{4}l_{3}l_{3}..._{3}l_{3} = 0$ for $l_{3}l_{4}l_{3}l_{3} = 0$ for $l_{3}l_{4}l_{3}l_{3} = 0$ for $l_{3}l_{4}l_{4}l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{5}l_{5} = 0$ for $l_{4}l_{5}l_{5} = 0$ for

$$= \frac{1}{(k-1)!} \sum_{\substack{n=k-1 \\ n=k-1}}^{\infty} \frac{n!}{(n-k-1)!} x^{n-k+1}$$

$$= \sum_{\substack{n=k-1 \\ n=k-1}}^{\infty} \binom{n}{k-1} x^{n-k+1}$$

$$= \sum_{\substack{n=k-1 \\ m=k-1}}^{\infty} \binom{n+k-1}{k-1} x^{m} \quad (\lambda dt m = n-k+1)$$

$$Tuna$$

$$= \sum_{\substack{n=k-1 \\ (1-x)k}}^{\infty} \binom{n+k-1}{k-1} x^{n}$$